Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.00

0.10

0.01

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

0836-429-PCA-3071-MJD52712.40820_lc.txt / MJD 52712.408184 / burstid=3071

| Grey line: exponential fit Peak flux: 0.968+/- 0.016 c/s/cm® _ |
E ’f Black line: power law + gauss fit Fluence : 27.72+/- 0.42 clcm? =
C Dashed line: power law o ) ' ]
- Duration: 78.75+/- 1.49s -
B Best fit model: 2. |
Best fluence model: 2.
— ) Best duration model: 2. —
= L .
C -
i Iy
i Wl
L WH H\ H | E
L T N R 1 ‘. .
; Exponential fit é
= Expon.time: 20.16+/- 0.56 s (chi>-red= 13.07) =
= } I =
— H f —
- W ! *HH T * e i
- | R Ty A L A Y PO S /A B0 W LR T
= f fd it it f f } T b | [N, =
E A it f P T UANTUNIS
S ey H A w5
— | —
= J( -
; Power law fit é
E Power law index: -1.500+/- 0.011 (chi*red= 9.14) =
= + 3
= ! -
= | f [
B | % He fi 3
SRR T L TN U AT T AL
SR AL R L T A L I TR R A Y AL LE
= Ly TR A L R S S R A T b
SRR it | £ Hoy i 04 T it i =
- it + f Py } h wﬁ H+ P ﬁw by it t Mﬁ HE
= | f | f (4 | } } 3
= t =
i T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 39.21+/- 3.00 s, fracgs= 0.05+/- 0.01) =
= Power law index: -1.567+/- 0.023 (chi’-red= 9.06) 3
= * 3
[ + -
= { } m I
- | AT EERL T
SRRV R TTIT T O L TR o TS SR RN i O
= LN T T L A TR L T R A R A R A LTI
- mﬂﬁﬂ N i W AT T #M by 1 J My i % w H+ ! *% f ol ﬁ P
= { -
— f =
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 30

Time [s]

0



